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MATHEMATICS By Pradeep Sir

Q. 1) The cost price of 36 articles is the same as_the
selling price of N articles. If the profit is 20%, then the

- —)
value of N is:

36 g3l BT HT Yo N a3l & Iy gea & e 2|

gfe &Y 20% &, Tt N &1 119 J1d SIHeT|
- SSC CPO 27/06/2024 (Shift-01)

(a) 25 —_—
(b) 42
40
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MATHECMATICS By Pradeep Sir

Q. 2) Aarav owns a watch worth Rs. 10,000. He sells it to
Bhavin a_t__a__gl_'gf‘ it of 15%. After some days, Bhavm.sells it
back to Aarav at 15% loss. Find the percentage profit or
loss faced by | by Aarav.

 3RE & UTH 10,000 IUY Bt HIAT Bl a@%naag@
15%$mwuﬁqaﬁm%|§m%
g 15% B WX 3R &I 9199 a4 T g maﬁaﬁ
qre wfa=ra T a1 g1 J1d e

HSK DS SSC CPO 27/06/2024 (Shift-02)
—_—o a) 17.25% Loss
b) 17.25% Profit

Jree
oo (c) 18.25% Profit
i (d) 18.75% Loss
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Q. 3) A merchant bought two watches for Rs 9,000 each.
He sold one watch at a loss of 10%. At what price (in Rs)
should he sell the second watch to make an overall profit
of 18%?

U® AR A 9,000 ¥9A WS | gl uf$al @didl| 394 &
USI 10% B 1A W a1 | $d [HATHR 18% BT @Y JHfoid
H1 & fou I/ g S fp9 Iiuad W (F9d H) a9+l

SSC CPO 27/06/2024 (Shift-02)

(a) 14,130 A




MATHECMATICS By Pradeep Sir

Q. 4) A grocer purchased 10 kg rice for Rs.700. He spends
some amount on transportation and then sells it for
Rs.1,400. If the percentage of profit made by the grocer
is 30%, then what is the amount (in) he spends on
“"l 00 X 1o transporta%ion? (Roun% off gg‘}e nearest integer)
U® ORI A 700 399 H 1 grad @xiall gRag-
3P 2 10FLYy 5% IR X & N v €9 1,400 ¥ A A7 Ger

—s — 21 afe du GRT sifola @y wfarg 30% 8, &Y ag aRaga
§_—, W ot I Fud ®) 339 a1 2 (Fecan e 0
300 quiifard iferg)
cp — —— SSC CPO 27/06/2024 (Shift-03)
(a) 350
(b) 380
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Q. 5) A shopkeeper buys oranges at the rate of 10
oranges for Rs.50 and sells them at the rate of 12

oranges for Rs.74. Find his gain or loss percentage.

wmsoﬁw_v?ﬁmﬁa%aﬁa?ﬁﬁaﬁm%

3R 3T 74 TUL | 12 ok Bl o & 9°dT ¢ | SHDT @TH 1
g1+ wfa=ra 31a @ifere —— —
SSC CPO 28/06/2024 (Shift-01)
(2) 23-% gain/TH —
: 70 gain :

(c) 30% loss/BTfI X
(d) 25 % loss/BTH %




MATHCMATICS By Pradeep Sir

7<) :’_ - S Q. 6) A reduction of 7.5% in the cost price of a
\e00 Yo commodity enables a shopkeeper to purchase 15 kg
more than what he previously purchased for a sum of
Rs.7,400. In order to make a profit of 32.5% on the pre-
P - Wwo *+ 3% reduction cost price of the commodity, at what price (in
Rs.) per kg should the commodity be sold?

® - uo el awg o A 75% 3 W o m @
gﬂ? qadT ﬁ‘ 15 & f%'m arﬁm a5 >

3 =I5 @@%mqmwnmmmmmﬁ%

| — 5 avg &t few geg (39 #) Uid [eatamd U 391 g

- 185 SSC CPO 28/06/2024 (Shift- hift-01)
$S1xs = l A —
45' _...--—'
cp = 2% 3 Yo
J8sSx —
265 _ _
op = sy )E2S 2 6"'2/8-)—/7
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Q. 7) A trader sells pulses at a 32% profit and uses
weights 20% less than the actual measure. Find his gain

percentage.
CP op mm%sz%mwmjjm%ammmﬁwmﬂ
So 122 %%mam BT UGN BT gl ITPT arH ufawrd
|
L’J SSC CPO 28/06/2024 (Shift-03)
-
sa 657
x.l‘bp (c) 72%
—&9 (d) 62%
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Q. 8) A vegetable vendor bought 100 kg of potatoes at
the rate of Rs.19 per kg and spent Rs.100 as cartage. He
sold 60 kg of potatoes with a 50% profit and half of the
remaining stock with a 40% profit. He sold half of the
still remaining potatoes with a 25% profit. What profit

percentage should he aim for when selling the ultimate

l‘} L 2 oo rema“i_gﬁ potatses t;;;h‘ileée %;);%rall _\pqroﬁt ?%’_4“2[%?
9. 19 X ¥ 100
> i, gﬁ&hmﬁ wm_o___,mﬂaéﬁmuwﬁiof;rfmﬂ

Lo TS 50% ITH WX AR AW HIA PT T o1 40% ATH W
a491| U dI¢ 39 a9 §U ATqSH # | Y 3T 25% &TH
W 99 31 42% ST 0T dTH U ferg CE|

X5 g.% @/mﬁaﬂﬁmﬁﬁﬁmuﬁrﬂaﬁwmm

lo SSC CPO 28/06/2024 (Shift-03)
lo ——s lOX (a) 0.16
(b) 0.1
M S
| o> = | -S m
>)x = 0| S'_
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Q. 9) A shopkeeper kept the marked price of an item at
Rs.500. He sold it at a scheme discount of 10% and 20%
and got a profit of 25%. What was the cost price of the
P M P item? . e
wgwﬁgﬁwaﬁma{ﬁmq:ﬂsoomﬁml L)
I L3S T 10% 3R 20% PI JT FPIW W a1 AR 25% BT T
wTe fhar| avg &1 a9 Yo &1 U1
W - SSC CPO 28/06/2024 (Shift-03)
/%‘2} ~ 268 (:) :ss ;88::
=25 g —_— .
| 0320
|lo ¢ 20 = —zo
\—/
28"
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Q. 10) The marked price of a table is Rs.5,980. If the

/_?)'_ shopkeeper offers a discount of 18%, what is its selling
S P = §'5| 8 ﬁ ) R Enc in Rs to the nearest rupee)?

\og swo*&nﬁ%l gﬂmw%
w?’aa,-“"‘

SSC CPO 28/06/2024 (Shift-03)
(a) 4,490

b) 4,940
(c) 4,904
1) 4,094
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TP SR} fl R 16% B Ted WX
< = dudr g1 gfe 3w 19220'6@ & a1 g, 6t 3@
loo QY 15% T TTH WI §Idi| avg &1 741 [y 7o (303 &) 7
\ ) — 1 — SSC CPO 29/06/2024 (sm(h(’n
(a) 742 A
b) 731
fom
% IS
3
3 e o 7)3_, A
186 —

Q. 11) A trader sells an article at 16% below its cost price.
Had he sold it for Rs.192.20 more, he would have gained

15%. The new sellmg pnce I(_lén Rs.) of the article is:
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5 1 Q. 13) A person bought two buffaloes for Rs.11,520. One
o5 : 44_" is sold at a loss of 15% and the other is sold at a gain of
‘ 19%. If the selling price of both buffaloes is equal, find

the cost price of the first one.
>< U® Afed A 11,520 ¥92 # gt 4 @Gl T A9 B 15%
T 5 e R e A e, e 8 o1
R, I RIGE IS ' = e

—"0
SSC CPO 29/06/2024 (Shift-02)

d

(a) Rs:6;700 /
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hWot = :g Ik =1 1 =3 Q. 14) A shopkeeper sold 3 wristwatches for Rs.2,800
S W7 25 each. If he has sold the watches with 40%, 25% and 12%
profit, respectively, then find his overall profit

percentage (correct to 2 decimal places).

C TP @GR 1 2,800 ¥U4 Ud® U3t & fRwmE | 3 $aT%
' =f iy ufsar adl| afe 397 4 ufSal A 40%, 25% MR 12%
Loo Sxa0 IR0 " he gy g A R A SueT ATy v 39 Y (@uAaad
, Q18 & F1¢ gl AT & T H9) | ==
L1 Wyt S '@ SSC CPO 29/06/2024 (Shift-03)
1 SRS QYR S- 1uo
= — (c) 0.2455
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Q. 16) Ramesh spent Rs.30,000 on Diwali shopping and
Rs.45,000 on buying a TV set, and the remaining 40% of

the total amount he had as cash with him. What was the

C total amount (in Rs.)? -
2.5 Ay 7 daret Ft @R W 30,000 IUY R A& Ae
35000 Wi W 45,000 30 @ fFy o A9 40% U IuF
Y ___—XIl00 U 79¢ & ¥4 # 4| o IR (vud #) feant 4
ko SSC CPO 29/06/2024 (Shift-03)
() 1,35,000

(d) 1,10,000
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Q. 17) The cost of 4 chairs and 3 tables is Rs 2,100 and

ME" the cost of 5 chairs and 2 tables is Rs 1,750. Find the cost
) - < > (in Rs) of a chair.
UxX+3Yy = JIDO%RL 4 3R 3 WSl BT &7 2100 A § 3 5 FRiGT ok
rLr —oPFL 2 Uil &1 §&d 1750 21 T® Pl g9 (F9d #) 31
52,50 Pl - —

cx+iy = 1350, = SSC CHSL MAINS 02/11/2023 (Shift-01)

. 3 \ r3 OREL

: (b) 125
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Q. 18) A sells a watch to B at 33% profit and B sells it to C

at 20% loss. If C paid Rs.532, what was the purchase price

for A?

A, B &I 33% WY UX U US! 99dT & 3X B IH 20% B1A
Cox 133 _é K{L W C &l 21 3fe ¢, 532 IUY HT YIa= Har g, af A
—_ R — = sfewagrEETYn ——

\DO J;D —) SSC CHSL MAINS 10/01/2024 (Shift-01)
- - A0
b) Rs.500
CP > 5 Lo 2, (c) Rs.400

e — (d) Rs.600
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Q. 19) Sohan sells sugar at cost price but he uses faulty
stocks and thus earns a profit of 28%. How many g

(grams) of sugar is he giving in exchange of 3.2 kg of

ugar?
25 ﬁmgﬂ,ﬁm%ﬂﬁmﬁm_a?m
Sl T UBR 28% B1 1Y ol Hal 21 98
2229 (100 3.2 kg T & dad fbaa g (mH) N S w122
o _~ — S$SC CHSL MAINS 10/01/2024 (Shift-01)

1)(8' (a) 1900
b) 1500
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Q. 20) A retailer buys 220 chocolates from a wholesaler
for the marked price of 198 items. He then sells each

",1‘—% MP = ég'b-;(, p ;::cc:':::eg e;t a discount of 3.7%. What is his profit
L& QD 3.7% @1 g¢ W aadl ¢ | STPT Oy UfaRa gra &8l
*G XS - —  SSC Phase XIl 20/06/2024 (Shift-02)
KT oot

—— (c) 6%
(d) 6.3%
q b30
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Q. 21) A person, while trading the shares of a particular

128 b company, observes that its price has gone down by 10%

x ~ a')t *‘_‘3 - 2930 from the previous day. In anticipation of increment on

the next day, he holds it for the next day. But the share

price further falls down by another 8% of the previous

ISpoo day. Then he sells his shares and gets Rs.12,420. How

— much could he have saved had he sold it the previous

day?

wmﬁHMﬁﬂwM%ﬁaﬁmmﬁ?_ @%‘3

L‘5°°°1‘j.-o=[3goo mmm%ﬁs_gm 1

= fepa=m @< wpar un —
SSC Phase Xl 21/06/2024 (Shift-02)

(c) Rs.1,260
(d) Rs.1,140 >
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Q. 22) The selling price of 84 items is equal to the cost
price of 105 items. What is the percentage of profit

gained in the transaction?

84 TX3T BT fAhT TeT 105 TG 3T P HY e & a¥T&R 2
Ay ket whody ey

SSC Phase XllI 21/06/2024 (Shift-02)

(a) 28%

| (d) 21%
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Q. 23) Two articles were sold for Rs.3,000 each, with no
loss and profit in the entire transaction. If one was sold
at a profit of 25%, then the loss incurred on the second
article is i

"
3l aegait # ¥ Ul 9% &I 3,000 $UA F 971 74T, [ A-
rok:| 3T A1 T8l g3 afe v ATH W)
ﬁnﬁ%ﬁﬂﬁéﬁmﬁgzm

SSC Phase Xl 21/06/2024 (Shift-02)

(a) 10%
(b) 182%

(c) 16%%

(d) 155%
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Q. 24) The selling price of 80 items is equal to the cost
price of 72 items. What is the percentage of loss incurred

1 0 g in the transaction? e 3 3
- 80 A¥ 3T &1 72 PUHA P NNEAX 5
g2 5p= awcp  RTlmlemed
SSC Phase Xl 24/06/2024 (Shift-02)
c? Sf a) 12%

o ° 3

\/ (d) 11-%
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Q. 25) A shopkeeper bought 30 books and sold 25 books
for same price. What percentage had he gained or lost?

S 1 fora e IR 30 Td @Rigl 3a- ot 49

TR 25 a4l 39 wfa=rd &1 @1 a1 8114 8372
=== SSC Phase XIl 25/06/2024 (Shift-02)

(c) 25% gain/<TH

(d) 25% loss




MATHECMATICS By Pradeep Sir

Q. 26) John buys 20 kg of wheat at Rs.30 per kg and 30

20 o 1 35548 ¥ o 8 a7 1 o 30t 18
do¥30= Loo 50 ¥ Ufd a1 31 o & Witaar 8 | IS 3w q;a:ma
Fiforg —

_ SSC Phase Xll 25/06/2024 (Shift-02)
30"50 - IS'DD (a)Rs.40perkg — )

b) Rs.20 per k¢
9
A 196 d) Rs 21 per kg
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Q. 27) A shopkeeper announced 17% rebate on the
marked price of an article. If the selling price of the

article is Rs.1,245, then the marked price (in Rs.) of the

article is:
'\ 2, gPHER A U W 17% 31 e P
mf = Wsu\oo Sﬁwnaﬁluﬁa\‘g)%qm}gs %?ha%m

- SSC Phase Xl 25/06/2024 (Shift-04)
s
(b) 1820
g \5

2= 05 G
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Q. 28) A vendor buys 20 pens for Rs.15 and sells them at
15 for Rs.20. How many pens should be bought and sold

to earn a profit of Rs.245?
U® fashar 15 $UA | 20 99 @HIAT & 3R I= 20 $9Q |

15 & fEure ¥ a941 21 245 IUQ & @Y $HH & fov
faa 09 @it o a2 o Tt e

$SC Phase XII 25/06/2024 (Shift-04)
(a) 280
(b) 540
(c) 320
(d) 420
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Q. 29) The percentage profit earned by selling an article
for Rs.2,100 is equal to the percentage loss incurred by
selling the same article for Rs.1,460. At what price should
the article be sold to make 20% profit?

TP a5 P! 2,100 30T # 994 W folad wiazra ary It
a¥g Bl 1,460 U | auq yfaerg g1 & avTeR 2|
20% WY A & fo avg &1 [$9 P W) a9 &

q1fee?

- SSC Phase XII 21/06/2024 (Shift-01)
(a) Rs.2156 /*
b) Rs.2256.
(c) Rs.2136 =
0 R 3RS
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Sbooo AR000
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Q. 30) Reyan purchased a laptop for Rs.56,000 and a
scanner-cum-printer for Rs.22,000. He sold the laptop for
a 20% profit and the scanner-cum-printer for a 15%
rofit. What is his profit percentage?
4 56,000 # TP 3R 22,000 ¥4 ﬁ HR-
Fu-fiey |itan 39 Bl 20% TTY W ﬁ—-r\*
Pu-fiiey Bt 15% T4 W 39 fean 39S @ wfowa =t

MOTHT P |
SSC Phase XlI 20/06/2024 (Shift-03)

(a) 18=% X

(b) 185%

/\ (c) 12— %]Q
(d) 12 - %
x-S o?o_x d )(
X5 X 2 |- les= SLo —28L
o2o-x T 3qx = 145

——-—'—"
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Q. 31) A wrist watch was purchased for Rs.3,000 and sold
for Rs.3,500. Find the profit percentage.

3,000 ¥ @S T 3Y 3,500 TUA H I T
Cp Y ks LAEL AL -

SSC Phase XII 20/06/2024 (Shift-03)
3000 3560 (a) 19.58%

(b) 18.33%

S

[
fx‘m 3 (6 ?:"

L (661
—
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Q. 32) A shopkeeper sells goods at 82% loss on cost price
but uses 28% less weight. What is his percentage profit
¢ P S¢ or loss?
U® PR $d ed W 82% D! g1i4 WX agar g, aAfdA
);( | § 28% ®H_qol PT SUAI Idl ¢l SUPI Ufawa @y a1
eI w82
1 SSC Phase Xl 21/06/2024 (Shift-03)
_i— & (a) 54% loss/BTH
(b) 54% profit/ciTH
32 - 4t c) 75% profit/dTY
—
-
\—/
3 R (X
o S '4
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Q. 33) A man sells a cow for Rs.22,000 and gains 10%. At
what price should he sell the same cow, in order to gain

14%?

MY 22,000 $9T # 9941 & 3R 10% ATH

p> Pl
alﬁfam | 14% T Sfd B  fore I/ 30 T B

{59 Fad W a7 91eu?

SSC Phase XIl 21/06/2024 (Shift-03)
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Q. 34) By selling a hair oil product for Rs.336, the gain is
12%. If the gain is reduced to 9%, find the resultant

selllng pnce (in Rs.).
gg"% nﬁ ad IAUTS I 336 YA H 994 W 12% BT dTH
|

g\ HTH USTHR 9% HY (a1 e, df uRumdt fawa
37 ed (FUd H) §1d e
—x 129 SSC Phase XIl 24/06/2024 (Shift-03)
A+ (a) 3300

~/

b) 300 X
=? & : f
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1S — 12 - | SKIE
R 100
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Q. 35) The price of an item is increased by 15% and then
the price is decreased by 12%. What is the effective

Eercentage increase in the price of item ?

HY ot Wl 8 SR fhR

15%

sw%;mﬁu%ﬁwm?m?ﬂ%laﬁ%mﬁgi

mné’tuﬁvmq@tm_ﬁ

(a) 2.2%

b) 3%
(©)1.2%

"
SSC Phase Xl 24/06

/____——'——_——-—-"

f2024 (Shift-03)
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Q. 36) A vendor buys 20 laptop bags for Rs. 13,000 and
sells them at 15 for Rs. 10,125. How many laptop bags

I3000 should be bou
— ght and sold to earn a profit of Rs.3,225?
Q0 = +5° 13000*6@ %ﬂ%ﬂ 3T 10,125
v mr&ﬂn 3225%11_31?%“@3%?@ &
19128 ¢35 SSC PRase XII 25/06/2024 (Shift-03)
Ty ) 12
. (b) 129
(c) 120
2345 ko
e
aS
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Q. 37) On two items of equal prices, T gets 12% profit on
one item and incurs 8% Ioss on other. What is his overall

CpP SP prof' t or loss percen
g w T & TP a5 U 12% BT ATH
7 " ma’m%aﬁ? 3%3& gidt g1 SHSI
mmmmﬁuﬁm |
SSC phase X1l 26/06/2024 (Shift-03)
100 33
1 —_— drofit, )o
oo o c? 0y (c) Loss, 4%)C
— (d) Loss, 2% X
u 2/

Y <ot
s
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Q. 38) P sells a Laptop to Q at a loss of 25% and Q sells
the laptop to R at a profit of 20%. If R purchased the
laptop for Rs.22,500, then what was the cost (in Rs.) of
the laptop for P?

P 3 Q FI 25% 14 WX U® AUely a4 3k Q 3 It duely

150 | P R P1_20% 914 W d911 IS R F 22,500 44 # dueiy
— SSC Phase XII 26/06/2024 (Shift-04)
a
i iww (b) 24800
(c) 23200

(d) 23800
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Q. 39) The selling price of y items is equal to the cost
price of 540 items. If the profit made is 44%, then find

@ 29 thggéﬁgrfé%qumaﬁm%m ¥ aRTET 2|
/j %&aﬁamu%%,mywmmagl

SSC Phase XII 26/06/2024 (Shift-04)
(a) 375

1)3” (b) 400
\’P/ 'b;, v\" ::)) 380

B

U@ﬁ“/“




